ERoN’ ATRD

HOLD DOWN TOGGLE CLAMPS 6803 No.E-9478

ATV EE R E6803

$S400 ESE

S

3

p

;%
8
6
8
0
3

xi-‘ 44%}
§ o
——

|

\
\\\\

¢

=A% i L
we "B C D E F G H I J KL M N O o p

A : : M :
P 6803-1 5 34 200 45 19 8 14 47 10 55 30 30 5 17 105 - 5~10
T 6803-2 6 40 255 55 25 9 20 62 12 60 38 32 5 25 105 60" 2~11
”””””””””” 6803-3 8 65 285 65 43 11 24 73 18 70 43 38 6 31 105 60" 6~18
AL AR IR R BT 2L
ENRBH W
................... AN .
s B R BEERXMEXKE  pysay Eiikg
Wt R B3R Q1 % Q2
,,,,,,,,,,,,,,,,,,, 992326 6803-1 0.8 1.1 M5X0.8 %30 60x132 0.13
I 992327 6803-2 1.0 1.2 - M6X1.0 X35  78x180 0.22
n H H H :
992328 6803-3 1.4 2.5 M8X1.25x40 = 112x243 0.40
A MER
................... /)
ShER T OIS
ML A
%3

http://www.nabeya.co.jp



eHAt—=t{ )

S5400

ORUTEELTEFMAIERIENEN, AIHILIREME R

k.

. 1
S
—

e

/V/ '/2 //
I /S'/ s
W >
Q__///////\/
g LA~
R1 R2 g
oD OI
i T |
Qi ol
9
L{}} 1
=M E_JIF
C B N
K
BR~®
e A ‘B C D E F G H I J i K L:M N O P  Q
68035-2 6 42 260 55 25 9 20 62 12 6 38 32 5 25 36 105 -3~ 6
68035-3 8 65 290 6543 11 24 73 18 7 43 38 6 | 31 42 105 6~18
680354 | 10 83 1320 85 50 17 132 104:20 10 52 96 8 ' 40 @ 62 105 11~40
W
- - KEHKN PR EEXBIEX K
iTES neg o : - HE) 2KXED Eikg
992329 68035-2 1.0 1.2 M5X0.8 X35 78%180 0.25
992330 68035-3 1.4 2.5 C MIBX1.25%45 - 112x243 0.54
992331 68035-4 2.0 3.0 - M8X1.25X65 = 140x280 0.75

AEER THCADHE. HITEFTIA,

W © oo o I B S+ 3

BT O

REHT

KT RFHMY



